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And he can stand on one foot; his service is valid and if not it is invalid

Overview

The X713 cites a Xn™72, where X" rules that if a 172 (while doing the 772v) is standing
with one foot on the floor of the 777v, and other foot on a utensil or a stone, if he is
able to remain standing with only the foot on the floor, the 772y is 77w>, but if he
needs the support of the utensil or stone the 7712 is 79105.! Our MOIN cautions us not
to derive any conclusions from this Xn*2 regarding the rules of 7x>¥n.2
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We cannot resolve from here that one type creates a separation with its own

type, for a stone is of the same type as the floor -
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And we also [cannot] resolve that by 119% 19Rwa 9% that it is yx7, for a vessel is

not the same type as the floor (and seemingly we can resolve these two rules from here) -
- 7941 NN 12 YD) PATRN TINA 6250 NINA (n,m g7 o) 19 INIEYA P93 NIN SNIVA)

However it is a query in Y7 127 P95, in a case where he placed a 2°0 within the

bowl and he received the blood in this *5> with the 2°0 inside and the question is whether
WKW 1A is TXIN or not —

moon responds that the cases are not like:
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! The 372 must be supported only by the floor of the 771y and not anything else.
2 7%°¥n means a separating or interfering object, where there should be none.
3 One may have assumed that we can derive from here that 1192 P2 is y¥1. The floor of the 771w, which is made from
marble (a type of stone), is the same 1 as the stone upon which the 372 is standing (with one foot). Therefore if
¥X1 12°K 112 it should be considered as if the 175 is standing on the floor of the 7171y, since the stone which is 11 of
the 119¥1 is not y¥117 between the foot of the 3715 and the 19%7 of the 771y, nwoIN will negate this assumption.
4 The n"21 Max7 amends this to read, 8177 719377 12 WKW 237 X7 (instead of 79X 11 1K *27 7XIN).
3 The n"a7 MaxT amends this to read, X°va7 (instead of 7°vay).
6 3°0 are the fibrous shoots which grow around the base of a palm tree. It is soft and absorbent. See >"w1 there 2°0 7"7.
7 The issue at hand is if we can resolve from this Xn*>12 that both 12 WRwa 17 and even 112 11 are 7X1, why is there
a query regarding the pa122 2°0 which is 1'% 1°Xw2 1. See ‘Thinking it over’.
8 He is happy that the 2°0 remains there; he has no intention of removing it, therefore there is cause to say that since it
is Y13 to the pm (and it is soft and porous) it is not Y% between the blood and the pam.
9 The reason it is surely %1 here (and not by the 2°0) is because here the item which is v will certainly be removed
(so therefore it cannot be considered a part of the 79%7), while by the 2°0 it may remain, so it is considered as part of
the para. [In the laws of n¥°¥n by 79°2v there is the factor of 7°9pn; if the person does not want the yXm71 727 to be on
his body, he wants to remove it; in which case it is a greater 7¥°¢r. The same is here. The less the likelihood that it
will remain, the more it is y¥7.
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For he certainly nullifies the 290 to remain in the bucket; however he is not >wa»,
the vessel and even the stone,!® for since people who walk there in the 7y will
trip over it; he will surely remove the stone and certainly the >93.

Summary
The more likely something is to be removed the more it is yXm.

Thinking it over

The X3 in ®» (cited in this M901n) concludes that yXIm KR 1122 11, however
regarding 112 11°RW31 77 it was not resolved. Is mooin difficulty only with the case of
20 (which is 2 11°Xwa 1°n), for this is what mopon states,'? or is moown difficulty
also with the case of 1122 7 (which may be even a bigger problem since the X713
ruled there that yxm 1°%)?13

19 He is certainly not 7uan the *73 for it has utility elsewhere, but he is not even “van the stone (which has no utility),
since it can cause people to trip over it.
! This is in a case where he placed one 7 into another pam.
12 See footnote # 7.
13 See x"wam 2"wan.
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